$\frac{1}{2}$	inear Time-Invariant System
Discrete-Time System	/Diserete System
A discrete-time sy outputs	stem transforms discrete-time inputs into discrete-time $x[n] \rightarrow y[n] = F(x[n])$
· · · · · · · · · · · · · · · · · · ·	$\mathcal{K}[\underline{m}] \longrightarrow \mathcal{K}[\underline{m}]$
$\underline{\text{Example}} \rightarrow \text{Balance}$ B $\underline{y[n]} = \underline{1.01 \text{ yl}}$	and Account from Month to Konth 2n-1] + x[n] 3 models the fact that we accure 1% interest each month
Basic System Properties	· · · · · · · · · · · · · · · · · · ·
A system is <u>memoryless</u> Variable at given time	it its output for each value of the independant is dependant only on the input at the same time.
y [m] = (e	$\alpha_{x}[n] - \chi^{2}[n]^{2} \longrightarrow memoryless$
	$f[n-1] + x[n] \longrightarrow system with memory$
- · · · · · · · · · · · · ·	. .

A system is inventible if	distict inputs lead to distict outputs
$y[n] = \overset{n}{\underset{k=-\infty}{\underset{k=-\infty}{\overset{n}{\underset{k=-\infty}{\overset{n}{\underset{k=-\infty}{\underset{k=-\infty}{\overset{n}{\underset{k=-\infty}{\underset{k=-\infty}{\underset{k=-\infty}{\overset{n}{\underset{k=-\infty}{\underset{k=-\infty}{\overset{n}{\underset{k=-\infty}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\infty}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\infty}{\underset{k=-\infty}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\infty}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\infty}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\infty}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\infty}{\underset{k=-\ldots}{\underset{k=-\infty}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\atopk=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\atopk=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\atopk=\ldots}{\underset{k=-\ldots}{\atopk=\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\atopk=\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\underset{k=-\ldots}{\atopk=-\ldots}{\underset{k=-\ldots}{\atopk}{\atopk=-\ldots}{\underset{k=-\ldots}{\atopk}{\atopk$	$\longrightarrow x[n] = y[n] + y[n-]$
· · · · · · · · · · · · · · · · · · ·	inverse system of the accumulator
A system is causal if the imput at the present ti	ie output at any time clepends only on the ime s past
All memosuyless	systems are causal. Why?
$y[n] = \sum_{k=-\infty}^{m} x[k]$	y[n] = x[n] - x[n+i]
Causal	non-causal
A system is stable it sn	nall inputs lead to responses that do not diverge
accumulaton:	input -> unit step signal.
$y[n] = \sum_{k=-\infty}^{\infty} x[k]$	$y[n] = \underset{k=-\infty}{\overset{n}{\succ}} \mu[k] \rightarrow y[n] = (n+1)\mu[n]$
· · · · · · · · · · · · · · · · · · ·	the output grows without bound
· · · · · · · · · · · · · · · · · ·	Unstable
· · · · · · · · · · · · · · · · · · ·	
	· · · · · · · · · · · · · · · · · · ·

if the following two proporties hold. A system is linear Additive Property $x_i(n] + x_i(n] \rightarrow y_i(n] + y_i(n]$ Scaling or Homogenity Property $ax[n] \rightarrow ay[n]$ These two properties can be written as. $F(a_1x_1[n] + a_2x_2[n]) = ay_1[n] + ay_1[n]$ $\begin{array}{c} \chi_{1}[n] \xrightarrow{a_{1}} \\ \chi_{2}[n] \xrightarrow{a_{2}} \\ \chi_{2}[n] \xrightarrow{a_{2}} \\ \end{array} \xrightarrow{\left\{ E \right\}} \xrightarrow{F} \xrightarrow{F} \xrightarrow{Y} \xrightarrow{Y[n]} \\ \chi_{2}[n] \xrightarrow{\chi_{2}[n]} \xrightarrow{F} \xrightarrow{Y_{2}[n]} \\ \chi_{2}[n] \xrightarrow{a_{2}} \xrightarrow{\left\{ E \right\}} \xrightarrow{Y[n]} \\ \chi_{2}[n] \xrightarrow{a_{2}} \xrightarrow{\left\{ E \right\}} \xrightarrow{Y[n]} \\ \chi_{2}[n] \xrightarrow{A_{1}} \xrightarrow{F} \xrightarrow{A_{1}[n]} \\ \chi_{2}[n] \xrightarrow{A_{1}[n]} \xrightarrow{E} \xrightarrow{A_{1}[n]} \\ \chi_{2}[n] \xrightarrow{A_{2}[n]} \xrightarrow{E} \xrightarrow{A_{1}[n]} \\ \chi_{2}[n] \xrightarrow{A_{2}[n]} \xrightarrow{A_{1}[n]} \\ \chi_{2}[n] \xrightarrow{A_{2}[n]} \xrightarrow{A_{2}[n]} \\ \chi_{2}[n] \xrightarrow{A_{2}[n]}$ Lincar System \iff Superposition $x_{i}[n] \rightarrow F \rightarrow y_{i}[n]$ $\chi_2(n) \rightarrow F \rightarrow \chi_2(n)$ # Test Linearity (2) Equation still valid? () In system equation, peplace: Valid $\chi[n] \rightarrow \alpha_1 \chi_1[n] + \alpha_2 \chi_2[n]$ $\chi[n] \rightarrow \alpha_1 \chi_1[n] + \alpha_2 \chi_2[n]$ in Valid linear non-linear

Example 1	$y[n] = 3 \times [n] + 2 \times [n-1]$	
() Substitating 'a,y,[n] + ($z + 2 [n] = 3 (a_1 x_1 [n] + a_2 x_2 [n]) + 2(a_1 x_1 [n - 1] + a_2 x_2 [n - 1])$)
· · · · · · · · ·	$= a_1 (3x_1[n] + 2x_1[n-1]) + a_2 (3x_2[n] + 2x_2[n-1])$	
· · · · · · · · ·	$= y_1 [n] = y_2 [n]$	•
	$= a_1 y_1 [n] + a_2 y_2 [n]$	
Lincar System	Generally, sum of scaled, delayed/advanced inputs => linear system	m
Example 8	$y[n] = \alpha \ x[n] + \beta$	•
$(a, y, fn] + a_2 y_2 f$	$n] = \alpha (a_1 x_1 [n] + a_2 x_2 [n]) + \beta$	•
· · · · · · · · ·	$= a_1 \alpha_{x_1} [n] + a_1 \alpha_{x_2} [n] + \beta$	•
· · · · · · · · ·	$= a_1(x \times i[n] + \beta) - \beta a_1 + a_2(x \times i[n] + \beta) - \beta a_2 + \beta$	
· · · · · · · · ·	$\neq a_1 y_1 [n] + a_2 y_2 [n] + \beta (1 - a_1 - a_2)$	
· · · · · · · · ·	not equal \rightarrow on less $\beta=0$	•
non-linear sz	stem/	•
	-> zero output for linear system	

example 3		•
y Cr	$D = n \cdot x[n] + n^2 \times [n - i]$	•
$a_1y_1(m) + a_2$	$y_2[n]$ ([n] + $a_2 x_2[n]$) + $n^2 (a_1 x_1[n-1] + a_2 x_2[n-1])$	• • • •
$= n \lfloor a_1 \rfloor$	$(1n) + u_2 + u_{1} + u_{2} + u_{1} + u_{2} + u_{1} + u_{1} + u_{2} + u_{1} +$	•
$=a_1$ (m	$\chi_1 + n^2 \chi[n-1] + a_2 (n \chi_2 [n] + n^2 \chi_2 [n-1])$	•
= a, y, l	$n] + a_{\nu} y_{\nu} [n]$	•
· · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·	•
· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·	•
	Linear System	•
		•
		·
		•
		•
		-

A system is time invariant if the behavior & c	thomacteristics of the
system are fixed over time.	· · · · · · · · · · ·
A system is time-involuant if a time shift in the in an identical time shift in the output signal.	e input signal nesults
$x[n] \rightarrow y[n] \qquad x[n-n_0] -$	→ y[n-no]
Time opigin does not influence system tran	nsfor mation.
Crample 1	· · · · · · · · · · · ·
$y[n] = x^2[n]$	
let's say the imput is x, [m]	· · · · · · · · · · ·
() Apply function to imput, then shift output.	
$y[n] = F(x_1[n]) = x_1^2[n]$	
$out_1[n] = y[n - n_0]$	Shift
$= \varkappa_{1}^{2} [n - \eta_{0}]$	Shift Invariant
(2) Shift input, then apply function Shifted input $x, [n-n_0]$ $out_2[n] = F(x_1[n-n_0]) = (x_1[n-n_0])^2$	\mathcal{L}

Notes $y[n] = \chi^2[n]$	· · · · · · · · · · · · · · · · ·
1. not Linear	· · · · · · · · · · · · · · · · · ·
a. static non-linearities are shift inv	raniant
depend only on current time	
Dynamic-> depends on Past and/or	fature times.
$Example 2$ $y[n] = n \cdot \chi[n]$	· ·
imput: x, Cn]	· · · · · · · · · · · · · · · · ·
$ (i) y[n] = n \cdot x_{i}[n] $	· · · · · · · · · · · · · · · · · ·
$out, [n] = y[n-n_0] = [n-n_0] \alpha$	$ \sum_{i=1}^{n} \left[\frac{n}{n} - \frac{n}{n} \right]^{i} = \sum_{i=1}^{n} \left[\frac{n}{n} + $
(2) shifted input x, [n-no]	
$out_2[n] = F(x, [n-n_0])$	not same
$= n \times [n - n_0]$. .
- Time Voorying	. .

$\frac{\text{example 3}}{\text{y[n]}} = \frac{x \text{En+1]} - x \text{En-1]}}{2}$. .	•
1. input $x_i[n]$ $y[n] = \frac{x_i[n+1] - x_i[n-1]}{2}$		•
substitute $x_i(n)$ by $x_i(n-n_0]$ $out_i(n) = y(n-n_0) = \frac{x_i(n-n_0+1)}{2}$	$\frac{\mathcal{X}_{1}\left[\mathcal{N}-\mathcal{N}_{0}-1\right]}{\mathcal{X}_{1}\left[\mathcal{N}-\mathcal{N}_{0}-1\right]}$	· · · ·
	•	
2. shifted input x, [n-no]	Same	
2. Shifted input $\kappa_1 [n-n_0]$ $out_2[n] = F(\kappa_1[n-n_0])$ $= \frac{\kappa_1 [n-n_0+1] - \kappa_1 [n-n_0-1]}{2}$	Same	
$out_2[n] = F(x, [n-no])$	A CALL CALL CALL	